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find the area of thenan^le whose sides are the base, the perpendicular fromhe right ang e upon tlie hypothenuse and the segmenadjacent to the base. 384— .A ns.
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«^es a person in London £900sterling. In paying this debt how many dollars will hehave to give for a bill ot exchange

; exchange at UO andcommission
f per cent ? $443f)—Ans.
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2 A person has an annual income of $500 from BankS^ock which pays 5 per cent dividend and sells at 1 "oWhat would his annual income be if he sold out and inivested in Railway Stock at 140, which pays a half veaXdividend of 3 J per cent.? .f600_Ans
"^'^ ^^-^'7

3 John is 32yrs. old and Thomas is 14vrs • in how

TZr'" '"^' ^"''" ^' '^''' ^' ^'^ ^^ Thorn;;? 4yrs

4 A merchant sold goods allowin- his customers ayears credit or a reduction of 10 per cem for ca^ Acustomer bought goods to the amount of $300 and paidcash. How much did he save, money being worth 8per cent per annum ? $8.40—Ans.
'"S worm «

5 The perimeter of an equilateral triangle is i20rodsHnd the length of a line drawn from one of the andesto^^the middle of the opposite side. 34.64+rods _


